

Nome: Rafael Rocha da Silva

$$\textcircled{9} \text{a) } \int_{-3}^3 9 - x^2 dx = 9x - \frac{x^3}{3} \Big|_{-3}^3 = 9 \cdot 3 - \frac{3^3}{3} - \left(9 \cdot (-3) - \frac{(-3)^3}{3} \right)$$

$$27 - \frac{27}{3} - \left(-27 - \frac{(-27)}{3} \right) = 27 + 27 - \frac{27}{3} - \frac{27}{3} =$$

$$\frac{54 - 54}{3} = 54 - 18 = 36 //$$

$$\textcircled{9} \text{b) } \int_2^3 2x - 6 - (x^2 - 3x) = \int_2^3 -x^2 + 5x - 6 dx$$

$$\left. \frac{-x^3}{3} + \frac{5x^2}{2} - 6x \right|_2^3 = \frac{-27}{3} + \frac{45}{2} - 18 - \left(\frac{-8}{3} + \frac{20}{2} - 12 \right)$$

$$\frac{-27}{3} + \frac{8}{3} + \frac{45}{2} - \frac{20}{2} - 18 + 12 = \frac{-19}{3} + \frac{25}{2} - 6$$

$$\frac{-38 + 75 - 36}{6} = \frac{-74 + 75}{6} = \frac{1}{6} //$$

$$2) a) \int_1^4 (x^2 - 3x + 2) dx$$

$$\frac{x^3}{3} \Big|_1^4 - \frac{3x^2}{2} \Big|_1^4 + 2x \Big|_1^4$$

$$\left[\frac{4^3}{3} - \frac{1^3}{3} \right] - \left[\frac{3 \cdot 4^2}{2} - \frac{3 \cdot 1^2}{2} \right] + [8 - 2]$$

$$\left[\frac{64}{3} - \frac{1}{3} \right] - \left[\frac{24 - 3}{2} \right] + 6$$

$$21 \cdot \frac{45}{2} + 6 = \frac{945}{2} //$$

$$2) b) \int_0^1 x \sqrt{x^2 + 1} dx$$

$$\int_0^1 x \cdot u^{\frac{1}{2}} \frac{d \cdot u}{2x} \rightarrow \frac{1}{2} \int_0^1 x \cdot \sqrt{u}^1$$

$$\frac{1}{2} \cdot \frac{u^{\frac{3}{2}}}{\frac{3}{2}} \Big|_0^1 \rightarrow \frac{1}{3} \cdot (x^2 + 1)^{\frac{3}{2}} \Big|_0^1$$

$$\frac{(1^2 + 1)^{\frac{3}{2}}}{3} - \frac{(0^2 - 1)^{\frac{3}{2}}}{3}$$

$$\frac{\sqrt{2^3}}{3} - \frac{\sqrt{1^3}}{3} \rightarrow \frac{\sqrt{2^3} - 1}{3} = \frac{2\sqrt{2} - 1}{3} //$$

$$\textcircled{3} \int e^{3x} \cdot \sin x \, dx \quad \begin{array}{l} u = \sin x \\ dv = e^{3x} \, dx \end{array} \quad \begin{array}{l} du = \cos x \, dx \\ v = \frac{1}{3} e^{3x} \end{array}$$

$$\int u \cdot dv = u \cdot v - \int v \cdot du$$

$$\begin{array}{l} u = \cos x \\ dv = e^{3x} \, dx \end{array} \quad \begin{array}{l} du = -\sin x \\ v = \frac{1}{3} e^{3x} \end{array}$$

$$\frac{1}{3} e^{3x} \cdot \sin x - \int \frac{1}{3} e^{3x} \cdot \cos x \, dx$$

$$\int e^{3x} \sin x \, dx = \frac{1}{3} e^{3x} \cdot \sin x - \frac{1}{3} \left[\frac{1}{3} e^{3x} \cos x \cdot \left(-\frac{1}{3} e^{3x} \sin x \right) dx \right]$$

$$\int e^{3x} \sin x \, dx = \frac{1}{3} e^{3x} \cdot \sin x - \frac{1}{9} e^{3x} \cos x \cdot \frac{1}{9} \int e^{3x} \sin x \, dx$$

$$\int e^{3x} \sin x \, dx + \frac{1}{9} \int e^{3x} \sin x \, dx = \frac{1}{3} e^{3x} \sin x - \frac{1}{9} e^{3x} \cos x + C$$

$$\int e^{3x} \sin x \, dx = \frac{9}{10} \left[\frac{1}{3} e^{3x} \sin x - \frac{1}{9} e^{3x} \cos x \right] + C$$

$$\int e^{3x} \sin x \, dx = \frac{3 e^{3x} \cdot \sin x - \cos x \cdot e^{3x}}{10} + C$$

$$\textcircled{3} \text{b) } \int x^2 e^{-x} dx \quad \begin{array}{l} u = x^2 \\ dv = e^{-x} dx \end{array} \quad \begin{array}{l} du = 2x dx \\ v = e^{-x} \end{array}$$

$$\int u dv = u \cdot v - \int v \cdot du$$

$$\int x^2 \cdot e^{-x} dx = x^2 \cdot e^{-x} - \int e^{-x} \cdot 2x dx$$

$$x^2 \cdot (-e^{-x} - (-2)) \cdot \int e^{-x} \cdot x dx \quad \begin{array}{l} u = x \\ dv = e^{-x} dx \end{array} \quad \begin{array}{l} du = 1 \\ v = -e^{-x} \end{array}$$

$$x^2 \cdot (-e^{-x} + 2) \cdot \int x e^{-x} \cdot dx$$

$$x^2 \cdot (-e^{-x} + 2) \cdot [x \cdot (-e^{-x}) + \int e^{-x} dx]$$

$$x^2 \cdot (-e^{-x} + 2) \cdot [x \cdot (-e^{-x}) - e^{-x}]$$

$$-x^2 e^{-x} - 2x e^{-x} - 2e^{-x} + C //$$

$$\textcircled{4} \text{a) } \left. \begin{array}{l} x^2 + 1 = 3 - x^2 \\ 2x^2 = 2 \\ x^2 = 1 \\ x = \pm 1 \end{array} \right\} \int_{-1}^1 (3 - x^2 - x^2 - 1) dx = \int_{-1}^1 (-2x^2 + 2) dx =$$

$$\left. \begin{array}{l} -2x^3 + 2x \\ 3 \end{array} \right|_{-1}^1 = \frac{-2 \cdot (1)^3 + 2 \cdot 1}{3} - \frac{-2 \cdot (-1)^3 + 2 \cdot (-1)}{3}$$

$$\frac{-2}{3} + 2 - \left(\frac{2}{3} - 2 \right) = \frac{-4}{3} + 4 = \frac{-4 + 12}{3} = 8 //$$

$$(4) b) \int_0^3 -x^2 + 3x + \int_3^4 x^2 - 3x =$$

$$-\frac{x^3}{3} + \frac{3x^2}{2} \Big|_0^3 + \frac{x^3}{3} - \frac{3x^2}{2} \Big|_3^4 =$$

$$-\frac{27}{3} + \frac{27}{2} + \frac{64}{3} - \frac{48}{2} - \frac{27}{3} + \frac{27}{2} = \frac{64}{3} - \frac{54}{3} + \frac{54}{2} - \frac{48}{2} =$$

$$\frac{10}{3} + \frac{6}{2} = \frac{38}{6} = \frac{19}{3} //$$